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In the following list identify these statements which are indicative of helping behaviour of
effective teaching. Select from the code to give your answer.

a) Instructional variety marked by multiple devices used.

b) Using the ideas of students while making presentations.

i

) Student’s success rate as evident in correctly understanding the assignments.

d) Engagement in learning tasks.

(e) Teacher affect as manifest in relations with students.

(f)  Probing to add and seek classifications of ideas.
Code :
Options:

91394333001 (b), (e) and (f)

(a), (b) and (¢)

B91334333200%.

(d), (e) and (a)

21334233003,

(b), (c) and (d)

B91334533004,
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Options:

(b), () 3R ()

91334533001,

(a), (b) ¥R ()

B9133432300%.



(d), () 3R (a)

912334533003,

(b), (c) 3R (d)

91334523004,

Question Number : 2 Question Id : 9139438397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the list given below identify these statements which relate to the characteristics of a
teaching act. Select from the code to indicate your answer.

(a) Teaching is a personal act to facilitate self development.

(b)  The goal of all teaching is to cause learning,.

(c) Teaching invariably implies changing the opinion of others.
(d) Teaching is triadic rather than dyadic in nature.

(e) Teaching means selling ideas.

(f)  Teaching means reaching the mind of students.

Code :

Options:

(a), (b) and ()

91334533005,

(c), (d) and (e)

B913343330086,

(b), (d) and (f)

91334533007,

f), (e) and (d)

91334533008,
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(a), (b) 3R (c)

91334523005,

(), (d) 3T (e)

B9133453320086.

(b), (d) SR (f)

2912334533007,

(£), (e) 3R (d)

B1334533008.

Question Number : 3 Question Id : 9139438398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
For promoting competence and excellence in and through education, which of the needs of
Maslow’s hierarchy has to be addressed ?

Options:

i -] T. o o]
a1394333000. LN€€d for love and belongingness

s S .
T Need for self esteem

91304333011, Oafety needs

R — Need for self - actualization
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Question Number : 4 Question Id : 9139438399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O

Which of the following are hindering factors in effective teaching ? Select from the code to
give your answer.

a) Teacher’s self-efficacy.

b) Teacher’s subject knowledge.

c) Low ability and willingness level of teacher.

(d) Lack of planning and teaching skills in a teacher.
(e) Teachers’s mastery of linguistic skills.

f) Inappropriate body language of the teacher.

Options:

91394333013, (€), (d) and (f)
91394333014, (a), () and (c)

(b), (c) and (d)

215394233015,

(a), (c) and (f)

91334533016,
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(), (d) ¥R (f)

91234533013,

(), (e) ¥R (c)

291334533014,
91334533015,

91334533016,

Question Number : 5 Question Id : 9139438400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the following characteristics of an evaluation procedure, identify those which describe
formative assessment. Select from the code to indicate your answer.

(a) Evaluation is a post instructional event.

(b)  Evaluation occurs during instruction.

(c) Evaluation is carried out by policy makers.

(d) Evaluation takes place periodically.

(e) The aim of evaluation is to improve the process of teaching.
(f)  Evaluation is based on participation of students and teacher.
Code :

Options:

(a), (b) and (c)

91334333017,

(b), (c) and (d)

2915334233018,



2915334233019, (b)! (E) and (f)

(c), (d) and (f)

212334533020,
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(a), (b) ¥R (c)

9153394233017,

(b), (c) 3R (d)

91334533018,

(b), (e) 3R (f)

2915334233019,

(c), (d) 3R (f)

91334533020,

Question Number : 6 Question Id : 9139438401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A researcher while writing his/her thesis does not give the rationale underlying use of
statistical techniques. This will be best described as a case of :

Options:

Ethical misconduct
91394333021,

91394333022 An error of omission

An error of commission
91394333023,



Technical lapse
91394333024,

Question Number : 6 Question Id : 9139438401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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In which type of research, the steps of research have to be cyclic ?

Options:

Grounded theorv research
91394233025, »

Acton research
91394333026,

. a1 tesearc
spEag: erimental research

VIR ¥ - study research

Question Number : 7 Question Id : 9139438402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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B91334333028.

Question Number : 8 Question Id : 9139438403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A researcher plans to study the effect of socio-economic status of parents on the school
drop-out rate in a district. What type of research will it be ?

Options:

Hvpothesis formulatine research
91394333029, + Y P ' St E

Experimental hypothesis testing research
91394333030, ’

Non Experimental hypothesis testing research
91394333031, ;

Ethnographic research
91394333032,

Question Number : 8 Question Id : 9139438403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Below are given a few key terms. Identify these which denote qualitative research paradigm.
a) Ex post facto method

b) Ethnography

d) Descriptive survey

Narrative

(

(

(c)  Symbolic interaction
(

(e)

(f)  Experimental method
Code :
Options:

(a), (b) and (c)

91334533033,

(d), (e) and (f)

91334533024,

(a), (b) and (f)

B1334533035.

(b), (c) and (e)

91334533036,
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(b), (c) ¥R (e)

91334533036,

Question Number : 10 Question Id : 9139438405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

For which type of research, the action words - “‘Control, manipulate and observe” are most
relevant ?

Options:

o139433303- Lction research

1394333053 11istorical Research

NTOTT ; SEATC
ST SESE SR Experimental research

, - -.’ -.‘ Fooe -:I -] ,’.- * -).- l. L-. . =
S Grounded thE(.r} apprc ach based research
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Correct Marks: 2 Wrong Marks: 0
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Read the passage carefully and answer the questions from 11 to 15.

Smart phones have grown in popularity over the last few years, and applications, or
content, rest at the heart of this growth. Content has become more important than hardware
and the quality of content is determined by creativity. Creativity emerges as seemingly
disparate areas, such as education, industry, and culture. As a result, convergence of virtually
all areas is receiving the spotlight today.

Convergence must also take place in the area of policy-making. Breaking down the
walls between education and science and technology (S & T) universities and businesses and
research and education, and convergence of these areas will bring about synergy and perhaps
yield unexpected creative results. When education and S & T merge, one plus one can result
in something greater than two. Convergence can take many forms : providing an education
that develops divergent thinking and encourages creativity in students at an early age;
developing human talents required by business by breaking down the barriers between
universities and businesses, and sharing the assets of government funded research institutes
with university students. These merges form the platforms for human creativity.

A nation can only become a world leader in S & T when its scientists are cultivated and
allowed to research to their heart’'s content.

Sub questions

Question Number : 11 Question Id : 9139438407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the passage use of the smart phones has grown because of developments in :
Options:

Technalpaias
1594333041 | €ChNOlOgIES

Researches
91394333042,

91394333043, Need for applications

o1394333044 Nterest of people

Question Number : 12 Question Id : 9139438408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the view of the author of this passage, what determines the quality of content ?
Options:

" - il
e I revalhng traditions

|.1 " -‘I -] 1C 1 "
srsnzagys YRS of application

Creativity and convergence factors
91394333047, .



I.‘ " s 1 B
Sississands, Fireas of concern

Question Number : 13 Question Id : 9139438409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Unique results will flow owing to :

Options:

Policy-making
91394333049, ? :

Creative results of synergy
91394333050, / &

Removing the hindering factors between research and education
91394333051,

Svnerey
91394333052,  ° &)

Question Number : 14 Question Id : 9139438410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
On the basis of this passage, it can be stated that convergence is :
Options:

A linear process developing in a sequential fashion
91394333053,

A simple additive process to enhance power
91394333054,

An interactive process centred on various elements
91394333055,

A multifaceted interactive process
91394233056,

Question Number : 15 Question Id : 9139438411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Quality of research in a nation gets enhanced as a result of :
Options:

Dedicated spirit of the researchers
91394333057,

Hardwork of the researchers
91394333058,



Expert power of the researchers
91394333059,
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9153394233042,

ST ohi STl
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[GIERIE
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Question Number : 16 Question Id : 9139438412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following sequence correctly depicts the linear communication model between
teacher and students.

Options:

Encode — Symbols — Message — Channel
91394333061, ’ ’

Channel — Message — Symbols — Encode
91394333062, ;

Message — Channel — Symbols — Encode
91394333063, > /

Symbols — Message — Encode — Channel
91394333064, -
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Correct Marks: 2 WrongMarks: 0
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91334533061
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91334533067

G - FT — Hefd — FZ HeH

215394233063
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91334533064
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Question Number : 17 Question Id : 9139438413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A university teacher makes a very effective expository presentation in his/her class without
caring for its effect on the students. This is an example of a/an :

Options:

Linear Communication Model
91394233065,

Interactive Communication Model
91394233066,

Transactional Communication Model
91394333067,

] . e -T ‘, 4 W " . ]
1594353088 Authoritarian Communication Model



Question Number : 18 Question Id : 9139438414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Below are given two sets. Set - I specifies the sensory modes while Set - II offer illustration
of speech communication to go with them. Match the two sets and indicate your answer by
selecting the appropriate code.

Set-1
(Sensory modes)
(a) Sight mode
(b) Hearing mode
(c) Touch mode
(d) Smell mode
(e) Taste mode
Code :
(@) (b) (c) (d)

Options:

2915334233069, (IV) (V)

91334333070, (1) (ll‘.)
91334533071, (IJ'.) (ILI'.)

2915334233072, (I_I'.) (ILI'.)

=
e

=

=

Set- 11
(IHlustrative speech)
It leaves a bad taste in my mouth.
I can’t put my finger on the problem.
Something is fishy.
That looks good to me.

That sounds fine to me.

Question Number : 18 Question Id : 9139438414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394333071, i) () (@v) (v) @)
91394333072, i (@) @ @) ()

Question Number : 19 Question Id : 9139438415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is a powerful indicator of mis-communication in a classroom
transaction ?

Options:

Volley of questions relevant to the subject.
91394333073, :

“Yawning' by most of the students.
91394333074, :

Purposely non-participative moves of students.
91394333075, ’

Volley of questions irrelevant to the subject.
91394333076, /

Question Number : 19 Question Id : 9139438415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freifera § 9 o weql fRaf-afa § F-HUW 1 U 99 S99 ¢ 7
Options:

 Tow < wfq grEfieE et 1 3

215394233073

| AT BEN a1 ' SATET o

B12334533074

91334533075

 fawa & wfd ST 9o 1 el

213394233076

Question Number : 20 Question Id : 9139438416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which model of communication ‘noises” are introduced as an important variable ?



Options:

Sy Linear Model of Communication

) - '...'_.I T T } " " '1" ki ."
N Participative Model of Communication

Transactional Model of Communication
91394333079.

|..|..1 1 " ‘I -T " 1C 1 "
91394333050, Assertive Model of Communication

Question Number : 20 Question Id : 9139438416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o 3o gfaam § ‘iR’ 61 Heequl =) % ®9 § yafdd T smar g ?

Options:

_@wmwmﬁnﬂ

91384533077

91394333078 HY0T hT FIAHTHTAT 9k FidaH

o1m0usa507  AEU 1 feRAT=fd TT wfaam

YT T AT HiTH

91334533080

Question Number : 21 Question Id : 9139438417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Aman travelled 300 km by train and 200 km by taxi, and he completed this journey in
5 hours and 30 minutes. However, if he travels 260 km by train and 240 km by taxi, it will
take 6 minutes more to complete the journey. The speed of the train is :

Options:

sysissssgy SO km/hour

I ,
01294333080 120 km /hour

S b i
91394333083 80 km/hour

91394333084 110 km/hour



Question Number : 21 Question Id : 9139438417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

399 F 300 =Y. &t asn 29 F AR 200 TR M. =1 aen S 9 &1 3R 3/ 35y 5 H5e 30 fgge #
Y @ | Feerd, Afe 98 260 fRH. T 9 3R 240 .01, SR & 20 T 7 o 39 e g
T 6 e &1 Ty TR &0 | 29 &1 Tfd © -

Options:

91394333081, 100 ?%"ﬁT/H’cﬂ

120 T 911/ 52

913345333082

- 80 IER:VAE!

B1334533083

110 fh.4i /5=
9139423320584,

Question Number : 22 Question Id : 9139438418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The present age of the father is twice that of the elder son. Ten years hence the age of the
father will be three times that of the younger son. If the difference in ages of the two sons is
as 15 years, the present age of the father is :

Options:

# ;
91334533085, 110 s

91334533086, 70 FEhrs

91394333087, 60 years

= ] 3 g
91594233088, oL }-E'Elf‘:r

Question Number : 22 Question Id : 9139438418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

a1 o1 9 219 oS U 1 3T 1 AT € | 3T 9 29 9 =1 Ul i 379 BT U 1 319 i a9
T BRI 1 Afe ST E T 31 W 3R 15 a9 &1 a1 941 i adHH 3 §

Options:

10 =@

91334533085,



70 a9

B1334533086.

) dH
91334533087,
91334533088, 20

Question Number : 23 Question Id : 9139438419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the sequence of numbers 2, 8, 24, 64, 160, x.........., the term x is :

Options:

320
91394333089,

s | /
DO
B1334533030, 84

192

215394233091,

224

2915334233092,

Question Number : 23 Question Id : 9139438419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A o &HH 2, 8, 24, 64, 160, x........ CHy TR FH AT :

Options:

520
91394333089,

38:
91534333030. 84

7
491394333091, 192

224
91394333092

Question Number : 24 Question Id : 9139438420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In a certain code, PLEADING is written as FMHCOMFB. How is SHOULDER written in
that code ?

Options:



91394333093, KCDQTIPV

91394333094, QDCKVPIT

QDCKTIPV

215394233085

sississsoss TP VRDCK

Question Number : 24 Question Id : 9139438420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

forl Ffaua F2 § PLEADING &I FMHCQMFB fa@n S 21 38 % § SHOULDER &1 %9
ot < ?
Options:

91394333093, KCDQTIPV

91394333004, RDCRVELL

QDCKTIPV

215394233085

sississsoss TP VRDCK

Question Number : 25 Question Id : 9139438421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In conveying the same meanings, which of the following is incongruous ?

Options:

U nique
91394333097,

Beautiful
91394333098,

Rare
91394333099,

Exceptional
91394333100

Question Number : 25 Question Id : 9139438421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HOE 39 HUfad i § f=ifed § 9 $F 31 22

ST

B91334333037.

*

91334533098, i

Ay

91334533099,

S ECIHEED

91334233100,

Question Number : 26 Question Id : 9139438422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In terms of the relationship indicated below, which word will correctly pair to replace the
question mark (?) ?

Scrub : wash : : Sob: ¢ I

Options:

Cry
91394333101, .

W ater
91394333102,

91334533103, Sad

91394333104, [ease

Question Number : 26 Question Id : 9139438422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

== 9T T HEY % TTER, A H1 I Gieil LM WA & fau 39ge 2 ?
TS : OF: : oAl 2

Options:
9194232101,

91334533102,

91334523103,



91334523104,

Question Number : 27 Question Id : 9139438423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two premises with four conclusions drawn from them (taking singly or
together). Which conclusions are validly drawn ? Select the correct answer from the code
riven below.
Premises : i) All lawyers are extroverts.

Some wisemen are extroverts.

E

All lawyers are wisemen.

et
B e

All wisemen are lawyers.

Some extroverts are wisemen.

3
R

(
(
Conclusions : (a
(
(
(

d) All extroverts are lawyers.
Code :
Options:
913394533105, (El) (]11[}’

(b) and (c) only

91334533106,

91394232107, (ﬂ) E"-ld- (C) Ul_l[}r

(c) only
91394333108, i

Question Number : 27 Question Id : 9139438423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e 91 3R 9 fou T € oy =R e et € (STohel o1 Us /1Y) | i o1 TRy 9@ § 2
= fou T e H 9§ W@ I T |

MU Are : (i) 9t stfeEEa afedEl 2 ¥ |

(i) FS IFEHE AT AEHE! BId ¢ |

R (a) T\t arferaa FigaH €
(b) Tt Jfgam AfeEem €|
(
(

¢) FS afeqHE fEaA T
d) |t afedEt sifaasm 21

e

Options:

2915394233105,



fa® (b) 3R (o)

91394333106,
91394333107, fa (a) ‘ﬁﬁ(‘:)
91394333108, (c)

Question Number : 28 Question Id : 9139438424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which is an example of a correct deductive argument ?

Options:
There are 24 CDs on the top shelf of my bookcase and 14 on the lower shelf. There are
no other CDs in my bookcase. Therefore, there are 38 CDs in my bookcase.
91394333109, ! ‘
No one got an“A” grade on yesterday’s test. Jatin wasn’t in school yesterday. Jatin will
Fi r
S 5 N ook : , ;
_ make up the test today and get an A" grade
All human beings are in favor of world peace. Terrorists don’t care about world peace.
Terrorists bring about destruction.
91394333111
You have to be 16 years old to geta driver’s license. Abhi will be 16 years old tomorrow.
Therefore, Abhi can now buy a car.
91394333112, J

Question Number : 28 Question Id : 9139438424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tae=tiferd § 9 &9 U Wal THareTs: ek &1 3¢ & ?

Options:

T Foh-FH & HIU IeE H 24 3R =901 e § 14 TE1 T W gF-F9 H *e iR Wil 78
€| 3y, W -9 § 38 Wil €|

el o1 gl § TRl A7 I 7@ foer | Sfqa e wha 3 6 911 Sfa e wlen < iR
91394333110 AV TS W HET |

gt 77 fava oifq & 99 § €1 Acsarl favd wifd &1 Wae @l &3 | SAdHars o
91294223111, m%l

9133943331048

SEfET HY UM & 70 3A79ehT 16 =19 1 1 =18 | A9 el 16 =9 =1 21 S | 9o,
319 317y U HR @G hal 2

91394333112,

Question Number : 29 Question Id : 9139438425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

In a certain flight crew, the positions of the pilot, copilot and flight engineer are held by
Mr. Ajit, Mr. Bhavesh and Mr. Chirag, though not necessarily in that order. The following
statements are true for all the three :

(i)  The copilot is the only child and earns the least.
(ii) Chirag is married to Bhavesh’s sister and earns more than the pilot.
Who is the copilot ?

Options:

Ajit
91394233113,

Bhavesh
91394333114,

Chirag
91394333115,

Either Ajit or Chirag
91394333116

Question Number : 29 Question Id : 9139438425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FHiayg foam s e ° 41 sifea, o 999 3R 41 o/ 9rgee, We- e SR R g €
B Sl T8l T a2 24 %9 H 81| F=ifed &9a 23 a9 & foe |98 € -

(i) WU kel HaH § AR T FHH FHC 2 |

(i) T =1 WSt W99 H e § S © IR 9% UHee § ATy FE <

HE TS B 82
Options:

913945335113,

T

912394533114,

91334523115,

1 a1 3Ifsra a1 e

91334533116,

Question Number : 30 Question Id : 9139438426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in Hockey and
Baseball. Gaurav and Kunal are good in Cricket and Volleyball. Sachin, Gaurav and Mandeep
are good in Football and Baseball. Who is good in Hockey, Cricket and Volleyball ?



Options:
Sachin
91394333117,

Kunal
91394233118,

Ravi
91394333119,

Gaurav
91394333120.

Question Number : 30 Question Id : 9139438426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TG IR FNE Bkl 3R AfcAiaia & = f@enel ¢ | Afaa 3R ¥4 2l 3 s9ara & o= fEars
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Options:

IR

2915334233117,

HUMed

2915334233115,

LE|
91294233119,
IEC|

912334533120

Sub-Section Number: 4
Sub-Section Id: 913943423
Question Shuffling Allowed : Yes

Question Id : 9139438427 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following two tables (I and II) that show the production (in Tonnes) of four
products P, Q, R and S during the years 2010-2015 and the selling price per Tonne
(in ¥ thousands) respectively. In accordance with the tables I and II, answer the questions
that follow (Questions 31 - 35) :
I : Production Yearwise (in Tonnes) II : Selling Price

(in ¥ thousands)

Product — P 0 R . Product Price Per
Year | Tonne

2010 45 99 i 115 P T9
2011 25 41 93 158 Q T4
2012 40 108 107 166 R T13
2013 38 60 63 139 S z3
2014 76 41 132 88

2015 56 70 120 97

Where,

Stability of production of a given product during 2010-2015

Average Production

Maximum Production — Minimum Production

and Revenue (in ¥ thousands) from selling a product

= Production of a Product x Selling Price

Sub questions

Question Number : 31 Question Id : 9139438428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
[n which year, the annual growth rate of production (of all the products together) is
highest ?

Options:

2011
91394333121

2012
91394333122,

2014
91394333123

2015
91394333124

Question Number : 32 Question Id : 9139438429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the stability of the production of P during 2010 - 2015 ?

Options:

0.92
91394333125

1.04
91394333126,

1.45
91394333127,

1.63
91394333128

Question Number : 33 Question Id : 9139438430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which year, the total revenue of all the four products is lowest ?

Options:
2011
91394333129,

2012
91394333130.

2013
91394333131

2010
91394335132,

Question Number : 34 Question Id : 9139438431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the products P, Q, R and S fetches the lowest revenue ?
Options:

IJ
91334533133,

Q

91334533124,

R

2915394233155,

91334533136,



Question Number : 35 Question Id : 9139438432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements is true ?

Options:

Product R fetches second highest revenue across products in the year 2011.
91394333137, :

— Sum of revenue of P, Q and S is more than the revenue of R in the year 2014.

— Cumulative revenue of P and Q is more than the revenue of S in the year 2013.

o Sum of revenue of P, Q, and S is more than the revenue of R in the year 2012.

Question Id : 9139438427 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

f=ifeRa <1 9RfoET (18R 11) R faar & sh9r Sd@E) P, Q, R, S &1 94 2010-2015 & SR 36
(23 H) AR o ufd 27 foskd ged (B9 T §) <wiidh &1 9ol [ $iR 11 & 3ar feifed vl
(Y99 31935) FIITH < :

[ : I¥aR 3AEA (29 H) 11 : fosha ge41 (3SR T H)
3cqlg —
P Q R S I e
99 | PIGRCE|
2010 45 99 75 115 P F9
2011 25 41 93 158 Q Z4
2012 40 108 107 166 R 713
2013 38 60 63 139 S 73
2014 76 41 132 88
2015 56 70 120 97
e,
9 2010-2015 F SR THEr feu U 3aue & I|eT &1 feeran
3ed ITed

~ S 3T — A e
HAR fordt 3care &t foreht § U 371 (TR T H)
=l 3Te =1 I < foashg Jed
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Question Number : 31 Question Id : 9139438428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

ToFg o9 | IcqreA (9T 3T 1 Ueh |1¥) i a1t gl o Soaad §

Options:

2011
91394333121

2012
91394333122

2014
91394333123

2015
91394333124

Question Number : 32 Question Id : 9139438429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Y 2010 - 2015 &% SRE P % 3G i Feomal F1 82
Options:

0.92
91394333125

1.04

9153394233126,

1.43

215394233127,

1.63
91394333128,

Question Number : 33 Question Id : 9139438430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
[l =R el | 9T FA A R 9u § Fam 22
Options:

2011
91394333129,

2012
91394333130,

2013
91394333131



2010
91394333132,

Question Number : 34 Question Id : 9139438431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

P,Q, R 3RS ¥ § fFyg 39€ ¥ 9rd ¥ f=gayq &2

Options:

IJ
91334533133,

Q

913345331324,

R

91334533135,

g

91334533136,

Question Number : 35 Question Id : 9139438432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=1 8 | [ A1 FYT W § 2

Options:

a9 2011 H Tt 3 H § I R F U 379 TG Tod ST § |

91334533137,

a4 2014 H P, Q 3RS 9 W &l A™ &1 A7 R H 9T 319 9 3I4F ¢ |

91294332138,

a9 2013 H P 3RQ q W Fdd A S W W A9 H 379 2

91334523139,

9y 2012 H P, Q 3RS 9 W Fed 39 R § 9Id 39 9 34 €|

91334523140,

Sub-Section Number: 5
Sub-Section 1d: 913943424
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9139438433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A virus hoax is an untrue virus warning email. When you receive a virus hoax such as the
one below, what is the appropriate action ?

Subject : Warning!

A new Virus has been detected in your computer. Format your hard disk and re-install all
softwares immediately.

Options:

[onore this email
91394333141, ©

Rep[v to the sender
91394333142, /

Or'Wi £ [ T—_— - ;
I ard this email to your friends

Format vour hard disk and re-install all software immediately
91394333144, : .

Question Number : 36 Question Id : 9139438433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
U Y 2 At 1 fHe g1 USrE Heas 3HA ¢ S 39 FEER U s e
T 2 & T 3 i a2 2

forer « =T !
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Options:
39 A Hl TGl HEAT

913394533141,

UYF I I <A1

91334553142,

379 T3 =1 98 O AUfd HT

91334533143,

deehTcdd 3791 218 feter Wite oAl IR 9t GRdaT ol T-3&2fd Al

91384533144,

Question Number : 37 Question Id : 9139438434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



There are two sets given below. Set - I specifies the IT related acronyms, while Set - II
indicates their meanings. Match the two and give your answer by selecting the appropriate

code.
Set -1 Set - 11
(Acronyms) (Meanings)
(a) DPI ()  Measures resolution of a laser printer
(b) CRT (i) An example of read-only storage
() NIC (i) A type of computer monitor
(d) CD-ROM (iv) Enables a computer to connect to other computers
Code :
Options:
91294332145 (I_I'.) (IV) (I_LI'.) (l)
91=943332146. (1) (IV) (I_LI'.) (H)
1 111 v 11
91294333147, () ( ) ( ) ( )
11 111 v 1
91594332145 ( ) ( ) ( ) ( )

Question Number : 37 Question Id : 9139438434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T A TR R | AgE - 1 1 3. A, § Hefyd vee-Ha € Safes 9gg - 111 396 319 €1 26
HHE] 1 Gaferd L 3R 3fd F2 F 997 L gL ST G |

g - 1 g - 11
(vTe2-HeAd ) (Z1ed)
(a) ELULTE. (i) TF oreR e T Fsieger i A9 Yl # |
(b) HLIRE, (i) Tre-3Aell ¥R *1 U I]|ER
(c) TUA.HEEL (i) ek YehI 1 hged HiHI
(d) HrE-Im (iv) T H H T R § e § Heg Hdl
EER
(@ (b) (c) (d)
Options:

91334533145, (IJ'.)

913394533146, (1)

215394233147,

(1)



(i) (i) (iv) (3)

2915334233148,

Question Number : 38 Question Id : 9139438435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statement(s) regarding the term ICT is/are True ?

P - ICT is the abbreviation of Information and Collaboration Technology, meaning
technology related to information and collaboration, such as computers and the
Internet.
3 The gap between people with effective access to ICT and those with very limited
or no access at all, is termed as digital divide.
Options:
P only
91384533149, )
Q only
91394533150 =
P and Q
91394523151,
Neither P nor Q
H138453315%2.

Question Number : 38 Question Id : 9139438435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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faw p

Options:

913394533149,

A% Q

91334533150,

5

R Q

91334522151,

AP IARAEQ

91334533152,



Question Number : 39 Question Id : 9139438436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The computer software that runs a computer, including scheduling tasks, managing storage
and handling communication with peripherals is called :

Options:

Dewvice Driver
91394333153,

Application Suite
91394333154,

Operating System
91394333155, ;

Bluetooth Technology
91394333156 ’

Question Number : 39 Question Id : 9139438436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

I 1 FAM ATl R Hiweady, o FEl & AT 996, HSRU YEeEA 3R SAaSHER &
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Options:

H1394533153. Shls \'§|5§‘:‘i"\

Q1294223154 ‘ g;
AL 9=

9153394233155,

29 Urfirnt
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Question Number : 40 Question Id : 9139438437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
The following list indicates different types of computer file formats. Which of them is devoted
exclusively to graphic file formats ?

Options:

GIF, JPEG, DOC

9153394233157,

PNG, GIF, JPEG

91334533158,



JPEG, TIFF, HTML

91334523155, -

TIFF, XLS, PNG

91334533160,

Question Number : 40 Question Id : 9139438437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Options:

S, .U, S1LULE. ST, 1.3

91384533157,

UL, ST ST U, LU S

91334533158,

SLUT.E.SH., 2137 UL UE,, U, 2L UH. U,

913345331545,

3.3 UF. UF,, Uad. UA. 0., 910,50,

91334533160,
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Following are two sets of items. Set - I lists different types of wastes, while Set - II indicates
methods of their disposal. Match the two sets and give your answer from the code given
below :
Set -1 Set - 11

(Types of Waste) (Methods of Disposal)
(a) Dry waste (i) By composting
(b) Wet waste (i) By burying in landfills
(c) Toxic waste (iii) By dropping them in corporation bins
( (

d) Soiled waste iv) By recycling

Options:

O @@ ([ (1)

91334533161,

) G) G

91334533162, (I'."v’) (



(i) () (iv) ()

91334533163,

(i) (v) @ (1)

91334533164,
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9153394233162, (IV) (

(i) () (iv) (1)

91234533163,

(i) (v) (@) (1)

91334533164,
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For ensuring sustainability in the quality ethos of the university environment which of the

following would be considered high priority skill for a vice-chancellor ?

Options:
Financial Manaeement Skill

91394333165, e e

a1504as51as Ldministrative Skill



Technical Management Skill
913943233167, >

Human Resource Management Skill
91394333168, ?
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Options:
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91394333166,
RERIEIR ELERE L]
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e T Y9 HIvTd
Q1=294222168,
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The purposes underlying the Renewable Energy Education programmes are :
Options:
1594555160, Educative and investigative

Diagnostic and evaluative
91394333170,

Corrective and p redictive
91394333171

Preventive and ameliorative
91394333172

Question Number : 43 Question Id : 9139438440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For an effective organisational climate within a university system, which of the following
measures will be most appropriate ?

Options:

Creating an equilibrium between driving forces and restraining forces.
91394333173,

Increasing the power of driving forces and decreasing the power of restraining forces.
91394332174, > >

o130uszalye DECTEASING the power of restraining forces without caring about the driving forces.

Increasing the power of driving forces without caring about the restraining forces.
91394333176.

Question Number : 44 Question Id : 9139438441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Below are given a number of roles and functions at the government/non-government level
indicating the specific responsibilities of the Ministry of Drinking Water and Sanitation. Identify
those statements which indicate the areas of responsibility of this ministry. Select from the
code to give your answer :

(a) Overall policy and planning in respect of programmes of drinking water and sanitation.
b) Funding in respect of the programmes listed in (a).

¢) Coordination of programmes floated.

d) Supply of food grains at reasonable price to the consumers.

e) Achieving the goal of zero hunger.

— — — e —

f)  Implementation of Swachh Bharat Abhiyan in rural India.
(g) Monitoring of prices and availability of essential commodities.
Code :

Options:

91394333177, (@), (b), (c), and (g)

(a), (b), (d) and (e)

912324533178,

(a), (b), (¢) and (f)

913345333179,

(a), (c), (d) and (e)

91334533180,

Question Number : 45 Question Id : 9139438442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I IS 3R Esd HAed & e STeigw@il & g9 g8 W/ TR-TER 'R W T E
i 3R FE QU T €1 39 FUAl F UeTH HL S 39 HAG o IAEII il g9id ¢ | fau M
e H Y HUA IH G -

(a) UISTA AR =zl HeHl wREH 1 gHY Hifd-FERen SR FEsE

b) (a) H affd sHriskdi =1 faa drom

¢) eI U FHEEH FH GH=EA

d) IUHEdST %1 3fed HHd W GRE $1 S

e) &1 Il o & hl W HAl

f)  HRd % U = H e qRd YA A A

o)  STETIE T Bl USRIl R FHIAAl I TR

he

Options:

91394333177 (a), (b), (c) 3R (8)

(
(
(
(
(
(



(a), (b), (d) ¥R (e)

91334533178,

(a), (b), (c) R (f)

913345331745,

(a), (), (d) 3R (e)

91334323180,
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Which of the following statements are correct about Indira Gandhi National Open University
IGNOU) ? To indicate your answer, select from the code given below :

a) It 1s an autonomous organisation.

(b) Itis devoted to promotion of open and distance education system.
(c) It conducts assessment and accredits the State Open Universities.

d) It has jurisdiction in respect of Open and Distance learning system in India and to the
study centres outside India.

Code :

Options:

(a) and (b)

215394233181,

(b) and (d)

9133453318z,

(c) and (d)

9153394233185,

(d) and (a)

913345331854,
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(@) 3 (b)

91234533181,

(b) 3R (d)

91334533182,

(c) 3 (d)

H91334533183.

(d) 3 (a)

91334533154,

Question Number : 47 Question Id : 9139438444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
The leadership and executive role in higher education system in respect of state universities
of India is assigned to :

Options:

-T 8 " 1 1 T L‘. T
91594333185 Chancellor of the University

| | - . 3 h
-C T O sity
a15aqzas1ge  Yice-Chancellor of the University

) s of Fac ieg
B — Deans of Faculties

f; S e
- Dean of Studies
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91334533185
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Question Number : 48 Question Id : 9139438445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The formal authority for approving the University level courses vests in :
Options:
1594333150 1 D€ Academic Council

The University Court
91394333190, s

The Executive Council
91394333191,

The Research Degree Committee
91394333192,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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H1334533189. ‘

_maﬁmmﬁ

9123345331390

913345233191, ¥
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2133942331392
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For promoting human values through College/University programmes which one of the
following leadership styles would be the most appropriate ?

Options:

1504333105 Directive Leadership Style

Participative Leadership Style
91394333194, ?

Consultative Leadership Style
91394333195, g



Delegating Leadership Style
91394333196, 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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913345331397,
91394533198,

91334533199,

91334533200,

Question Number : 50 Question Id : 9139438447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A post-graduate degree holder student with 55% marks intends to pursue research for the

award of Ph.D. degree. What will be the formal requirements in this regard ? To indicate
yvour correct answer choose from the code given below :

(a) Appearing in an admission test of a university
b) Attending a coaching institute

c) Consulting an expert teacher

d) Submitting an application for enrollment

e) Submitting a proposal for the research

g)  Getting the opinion of the experts on the research theme

(f) Discussing the research proposal with a peer group
(h) Getting the proposal approved by the relevant body of the university
(

i)  Attending mandatory course work
Code :
Options:

91394333197, (a), (d), (e), (h) and (i)
91394333198, (b), (¢), () and (i)

91394333199, (©), (e), (g) and (h)

(d), (f), (h) and (i)

21394233200,
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Question Number : 51 Question Id : 9139438448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the domain of cyber security, MAID refers to which one of the following 7

Options:

Mutually Acquired Intelligence Development
91334533201,

Mutually Assured Information Development
91334533202,

Mutually Assured Information Destruction
H1334533203.

Mutually Acquired Intelligence Destruction
913345333204,
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Options:
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91334533201,

gt TS SR SaeTTHe
91394333202,



et UIAIE SR SREEH

91334533203,
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2915334233204,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following Japanese words is used to refer to the surviving victims of the
atomic bombing of Hiroshima and Nagasaki ?

Options:

91394333205, ninkansen
91394333206, ibakusha
91394333207, 110nshU
91394333208, oo nehna
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Options:

91324333205, Rrpre
91394333206, %Wn
91324333207, m
91324233208, e
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In which of the following States do we have uranium deposits ?

Options:



Bihar

B12334533209.

Madhya Pradesh
B1334533210.

Rajasthan
91334533211,

West Bengal
91334533212,
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Options:

91394333209, feem
91394333210, A
91394333211, (e
91394333212, TR
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The idea of National Missile Defence (NMD) in the United States was conceived by which
one of the following ?¥

Options:

91394333213, Clnten Administration
91394333214, Vxon Administration
91394333215, Dush Administration

91394333216, O pama Administration
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Correct Marks: 2 Wrong Marks: 0
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H1334533213.

21594233214,

EEIGE]
91334533215, w

91334533216,
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Who gave the following statement, “One individual may die for an idea, but that idea will,
after his death, incarnate itself in a thousand lives” ?

Options:

91394333217 valabhbhai Patel

91394333215 1B Chavan

Swaran Singh
91394333219

Netaji Subhash Chandra Bose
913942333220,

Question Number : 55 Question Id : 9139438452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa wum fore foa, “org safe foamam & foro m s 2, o sadt 70 & ag 9. fem ws
T HffaT 1§94 o Geha1 & ?

Options:

FoaHYTE Te

91334333217,

b, =egm
31394333218, WA

i fire

9153394233219,



Farait e
91394333220, G
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Correct Marks: 2 Wrong Marks: O
The first Constitution of Pakistan was drafted in
Options:
1955

9153394233221,

_
91394333000 1992

.
91394333223, 1906

_
91394333224, 1904
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Options:

9153394233221,

B1334533222.

.
91394333223, 1906

.
91394333204, 1974
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Correct Marks: 2 Wrong Marks: 0

Pakistan’s political party of Imran Khan — Tehreek-e-Insaf, was established in
Options:
1996
91394333225,

B1334533226. 1997

91334533227, 1994



B1334533228. 1992
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Options:

91334533525, 1996

H1334533226. 1997

91334533227, 1994

91334533228, 1992
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Correct Marks: 2 WrongMarks: 0
The ‘SAMADHAN' is related with tackling the problems of

Options:

91394333209, lacists

91394333230, [\axallsm

Illegal migrants in North-East India
91334333231,

Chakma refugees
913245333232,
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Options:

qraraTs!

B1334533229.

91334533230,



gatert wid o s7ay varfaEt
91394333231,

B1334533232.
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Correct Marks: 2 WrongMarks: 0
Mao’s Great Leap Forward led to which one of the following ?

Options:

Successful modernisation of Chinese industry
913942333233,

The spreading of communes throughout China
21394233234,

Strong Chinese military
Q1=294=2=2=2225 8

Well-crafted goods to be exported to European countries
913943332356,
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Correct Marks: 2 WrongMarks: 0
In International politics, Liberals see balance of power politics as
Options:

A formula for building national strength
91394253257,



A formula for building anti-hegemonic coalitions that help to preserve the independence of

91394333238, OUnes

A necessary formula that helps make states less vulnerable
21394233239,

A never ending formula for conflict and for wasting resources
21394233240,

Question Number : 60 Question Id : 9139438457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F-adta werdifa 4, sqrardt ufe dqe & uofifa it o sud ged € 2

Options:
vtk &

91394333237, T v

Fnrferaerardt fatet waaym, St 2o 6t TadEaT it AUV @A § EE B &, IR a4 # g
91394333238

HIETIS §F S U1 H FH WG T | 7GR Fan B
91394333239

grg 3 guETaAl % srvery % o atadla 4
91394333240,
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Who amongst the following leaders said, “As long as the US does not show in practice its
strong will to remove our concerns, there will be no case where we will move forward first
unilaterally™ ?

Options:

Kim Un Song
F1394333241.

Li Sie Jong
91394333242

Ri Yong-Ho
215394233245

Lew So Huang
21594233244,
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Options:

91334533241, Ron 3wl

B12334533242. o fr e
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91394333243,
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91334533244,
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A sum of assets that enables a State to achieve its goals, even when they clash with the
goals and wills of other international actors is defined as
Options:

Capabili
B91334533245. pabiity

91394333046, ationalism

91394333047, | ational Interest

91394333245, L OVer

Question Number : 62 Question Id : 9139438459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91334533245,

91334533246,

et i

21594233247,



2915334233248,

Question Number : 63 Question Id : 9139438460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following leaders authored a book entitled ‘India Vs Pakistan : Why Can't
We Just be Friends’ ?
Options:

91394333049 vawaz Sharif

91394333250, Pervez Musharraf

Husain Haqqgani
91394333251,

Atal Bihari Vajpayee
913942333252,

Question Number : 63 Question Id : 9139438460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4T e
91394333249,

A I

B1334533250.

g gl
91394333251

Fea Targrlt arert
91394333252,

Question Number : 64 Question Id : 9139438461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91334533553, 1988



B12334533254. 1989

91334533555, 1990

H1334533256. 1991

Question Number : 64 Question Id : 9139438461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which one of the following years was a treaty between Warsaw Pact countries and NATO
signed declaring that they are ‘no longer adversaries, signifying the end of Cold War’ ?
Options:

91334533253, 1988

91334533254, 1989

91334533555, 1990

B1334533256. 1991

Question Number : 65 Question Id : 9139438462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following perspectives of human rights is criticised ?

Options:

91394333057, Oniversalism
Cultural identity

91394333058,

91394333259, Secularism

91394333260, 1ndividualism

Question Number : 65 Question Id : 9139438462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



B1334533257.

Hreahlds TEaH
91394333258,

91334533259, el

91334333260,

Question Number : 66 Question Id : 9139438463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is the first missile boat of India ?

Options:

91394333261, 11> vinash

91394333262, V> viraat

91394333263, 1> onaktl
INS Ajay

91394333264,

Question Number : 66 Question Id : 9139438463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frfeafaa © o s9-dt yrg < vgen veue = R 7

Options:

91394333261 R

91394333262, R

91394333263, A

91334533264, R

Question Number : 67 Question Id : 9139438464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘House Un-American Activities Committee’ (HUAC) was established for the purpose of
which one of the following ?

Options:

91394333265, 1o reotout the Nazis from America

9139433306, 10 Yoot out the Jews from America

To root out the Communists working in Federal Government
215394233267,

To root out the Nazis working inFederal Government
913342533268,

Question Number : 67 Question Id : 9139438464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91394333265, @ il S T % fer

i @ wefid % aqErede % Ry

H1334533266.

etd (T TR | S ararfet & aamresd & fog

B1334533267.

e (adtg # shrdta T & GEteee &
91394333268, SRVASS fere

Question Number : 68 Question Id : 9139438465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The term ‘White Helmets’ refers to which one of the following ?
Options:

Syrian rescue workers from the volatile frontier area situated on the Golan Heights
21394233269,

Syrian refugees who had fled due to Civil War to Golan Heights
91394233270,

A UN sponsored rescue programme in the Golan Heights
A12394232271. =po P '8

A UNICEF backed programme to rescue children and women from the Golan Heights
91394333272,



Question Number : 68 Question Id : 9139438465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91394333269, e Tarfat R R e w4 % s o= e

Hifers womeff St T 75 % Froor e vafeEt | wmow @
91394333270,

91334533271, e ) ﬁmw o

Tierm Terfedl & st ot afeensdt At = % forn gfde aafia St
91394333272,

Question Number : 69 Question Id : 9139438466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In April 2013, which one of the following battles was voted as Britain’s greatest battle by
UK’s National Army Museum during World War 11 ?
Options:

Battle of Singapore
Q1394333273 gapo

91394333074 Dattle of Kwai

Battle of Irrawaddy
913942333275,

Battle of Imphal/Kohima
215394233276,

Question Number : 69 Question Id : 9139438466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

g 1 1g

B1334533273.

FATE F Ig

913345333274,



TaE # 4G
91394333275,

FFRTC/HITEAT 1 I
91394333276,

Question Number : 70 Question Id : 9139438467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Iran’s nuclear programme in early 2000 was code named as

Options:

Project Daulat
B1334533277.

Project Ahad
91394333278,

Project Desert
91334333279,

Project Amad
913245333280,

Question Number : 70 Question Id : 9139438467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a¥ 2000 % I § [ % TP FrlEa w1 Fe ™ o7 |
Options:

Trete dtera
9139433327 7.

ratee
91394333275, =

Taae e
91394333279,

qraiee
91394333280, R

Question Number : 71 Question Id : 9139438468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With which one of the following countries, had India signed a Logistics Exchange
Memorandum of Agreement (LEMOA) ?

Options:

91394333251, ussia



H1334533282. UsA

91394333253, rael

Bangladesh
91334333254,

Question Number : 71 Question Id : 9139438468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91334533281,

T T
91394333282,

91394333283,

B912334533254.

Question Number : 72 Question Id : 9139438469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one group of countries signed a Trilateral agreement on Chabahar with India ?
Options:

Bangladesh and Iran
91334333285,

Afghanistan and Iran
215394233286,

Nepal and Iran
91394333287,

91394333285, ussia and Iran

Question Number : 72 Question Id : 9139438469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



ATy i
91394333285, T

ARTHEE 3 TH
91394333286,

T #
91394333287 ¥

w4 3
91394333288, =

Question Number : 73 Question Id : 9139438470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A coded message, “The Italian navigator has landed in the new world” is related to which
one of the following 7

Options:

Successful launch of missile developed by Italy
91394333259,

91394333290, Successful test of first nuclear chain reaction

Successful test of a jet propelled engine
Q1294222291 Jet prope g

91594333292, Successful launch of a satellite

Question Number : 73 Question Id : 9139438470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334533259, et g - A

rfirhrr =9 ftam it
91394333290, el I

A Yives 3fA =1 a%e T
91394333291, 7 3 L

IUTE T Th HEq0
B13345332392.

Question Number : 74 Question Id : 9139438471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following denotes ‘three pillars’ of the NPT ?

Options:

Disarmament, non-proliferation and peaceful uses of nuclear technology
2153942332935,

Nuclear weapon free zone, nuclear power and regional stabili
91294333294, po po reet w

Strategic bomber, ICBMs and SLBMs
Q1594232295

Nuclear, chemical and biological weapons
21394233296,

Question Number : 74 Question Id : 9139438471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

Fr-arefterton, st sft i sttefireht < aifergof s
91394333293,

Afirehia gferam qw &, T wiw o gt et
91394333294,

91394333295, Tt wnates, o o . aft v e s,

91394333296, ! sl

Question Number : 75 Question Id : 9139438472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

China is forging strategic ties with which one of the following African countries ?
Options:
21594233297, Ethiopia

91394333005, Zambia

91394333299, LAPeria

Djibouti
91394233200,



Question Number : 75 Question Id : 9139438472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

HEELEE!

B1334533297.

B12334533298.

B1334533299.

Forf

91334323200,

Question Number : 76 Question Id : 9139438473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following countries has collaborated with India in its first private sector
missile sub-systems manufacturing facility near Hyderabad ?

Options:

91394333301, ussia

B1334533202.

91394333303, 1oeel

215942335304, USA

Question Number : 76 Question Id : 9139438473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
91394233301,
913942332302,

91394233202,



T T i
91394333304,

Question Number : 77 Question Id : 9139438474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who amongst the following remarked that “How can the Hindus oppose Pakistan when
they had recognised the separate identity of Muslims in 1960 itself” ?

Options:

91394333305, WA Jinnah

Liagat Ali Khan
21394233206,

Madan Mohan Malviya
91394233207,

Tej Bahadur Sapru
91394333308,

Question Number : 77 Question Id : 9139438474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

. o
91394333305, e

91334533206, el aH

g ATAd g
91394333307, L

o Eg
91394333308, i

Question Number : 78 Question Id : 9139438475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who amongst the following declared that “Hunger is due to people not having enough to
eat, rather than there not being enough to eat™?

Options:

Arvind Panagariva
A1 39432323209, agary



Am a Sen
91394233210, arty

Jagdish Bhagwati
91394233211, & B

Dr. Manmohan Singh
91334533512,

Question Number : 78 Question Id : 9139438475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

arfamg wamfem
941394333309,

91334533210, &

FErS Wt
91394333311,

9133453321 %2

Question Number : 79 Question Id : 9139438476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following described geopolitics as “A pseudoscience, erecting the factor of
geography into an absolute that is supposed to determine the power, and hence the fate of
nations” ?

Options:

Hans J. Morgenthau
91394333513,

91394333314 11 Mackinder

N.J. Spykman
91334533515,

91394333316, - Cohen

Question Number : 79 Question Id : 9139438476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394333313, ¥ . ARt

w=, #feet
91394333314,

U9, TSR

91334533215,

g dt. s

91334533216,

Question Number : 80 Question Id : 9139438477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who opined that ‘Nehru's idealism was the realism of the future’ ?

Options:

91394333317, - Cohen

Hans J. Morgenthau
215394233215,

913345332145, K. Waltz

Robert Osgood
21394233320,

Question Number : 80 Question Id : 9139438477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

wa, i, g

B912334533217.

&6 . Hi-aTa!
91394333318,

%, aTegd
91394333319



Tad el

913345332320,

Question Number : 81 Question Id : 9139438478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The “Area or web defence” tactics were successfully used in which one of the following ?

Options:

913943333p1 Culf Warl

91394333320, 1 akdand War

91394333303, erd Warll
Yom-Kippur War of 1973

91394333324,

Question Number : 81 Question Id : 9139438478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

st g 1
91394333321 ' 38

Fichets 4g
91394333322

ffrmgg
91394333323,

1973 w1 T-fFeg
91394333324 1

Question Number : 82 Question Id : 9139438479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Kingkeng' or ‘Starry Sky-2’ refers to which one of the following ?
Options:

It is a Chinese missile that can carry nuclear warheads to almost upto 5000 — 6000 kms.
91394333525,

Itis a Chinese h rsonic missile that can carry nuclear warheads.
Q1394233326 ype



It is a Chinese hypersonic aircraft that can carry nuclear warheads and penetrate any

current generation anti-misgile defence systems.
91394253327,

It is a Chinese supersonic missile that can carry nuclear and conventional weapons/missiles

to almost all parts of the world.
91394253328, oF Fhe wor

Question Number : 82 Question Id : 9139438479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

a5 wh =Rt wararea 7, St il gt ®t @ 5000 - 6000 fdft o & S EwaT
91394333325,

91394333326, 8 T A FREI e SEITE &, S b el (FEre) H W S Eehd @ |
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o o a1 & |
91394333328,

Question Number : 83 Question Id : 9139438480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Amongst the following places, where is the India’s first Integrated Solar Combined Cycle
Power Project proposed to be set up 7

Options:

91394333309, L Ama

91394333330, Lucknow

Jodhpur
91394233331,

Gandhinagar
2153942335352,

Question Number : 83 Question Id : 9139438480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913345332329,

91334523220,

91334533521,

21594233552,

Question Number : 84 Question Id : 9139438481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who gave the following statement, “In the years ahead, we hope to further strengthen
these bonds, as we continue to look for opportunities to work with the people and

Government of Pakistan to advance our shared goals of security, stability and prosperity in
South Asia™ ?

Options:

Henry Kissinger
9139432333233, v 8

91394333334 Hichard Blackwell

91394333335, " iliam Clarke

Michael Pom
A1=2942=2=2228, peo

Question Number : 84 Question Id : 9139438481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

Eo:E
91394333333, it

H13324533524.



9153394233355,

aTgehe witeat

21594233556,

Question Number : 85 Question Id : 9139438482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What do you understand by the term ‘Krag Maga’ ?

Options:

It i a deadly martial art pioneered by the US special forces.
Q13943232237 Y P Y pect

It is a deadly martial art pioneered by the British special forces.
913342533338,

It is a deadly cloak and dagger art by Russian special forces.
91394232239, Y ag8 ¥ peat

It is a deadly martial art pioneered by Lsraeli special forces.
Q1394332340 Y P Y pect

Question Number : 85 Question Id : 9139438482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394333337, T T T A A1¢ 8 Foraeh woran smfeeht favm @ § |

91394333338, a7 T T Areier 31 @ ok st fafew fag @ €

91394333339, 78 &4 I foriw @l 1w Feith G5 S AL |

91394333340, a8 T ST A A & ok s gt fod aw §

Question Number : 86 Question Id : 9139438483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who amongst the following thinkers said “there is no single cause of war, peace is an
equilibrium among many forces” ?

Options:

91394333341 M- Howard



Carl von Clausewitz

91394232342,
uiney Wright
Q139423232343 Quincy &
Barry Buzan
A13943233344

Question Number : 86 Question Id : 9139438483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

TH. EES

91334523241,

FIet a9 Feraraea

H1334533542.

o=t
91394333343, e

aff o
941394333344,

Question Number : 87 Question Id : 9139438484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

At which one of the following places did the General Assembly of the League of Nations
meet once ?

Options:

91394333345, Ceneva

Hague
91394333546,

91394333347, 1208

91394333348, VeV YOrK

Question Number : 87 Question Id : 9139438484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

H13345333545.

913345333246,

H1334533347.

RIED
91394333348,

Question Number : 88 Question Id : 9139438485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The members of the Security Council are elected for how many years ?

Options:

Two-year term
91334333349,

Three-year term
9133245323350,

Four-year term
91334533551,

Five-year term
91394333352,

Question Number : 88 Question Id : 9139438485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

Zl-adig FHEwr
91394333349,

91394333350, dr-adia ;

91394333351 = PrhIe

91394333352, ot e

Question Number : 89 Question Id : 9139438486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Whence one of the following countries has India purchased the Pilatus PC — 7 trainer
aireraft ?

Options:

91334533353, USA

H1334533554.

91394333355, oizerland

Germany
215394233556,

Question Number : 89 Question Id : 9139438486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
yrid A Frfeafias 3 @ frm 2o @ fieea d.d@, - 7 vies e frafe i g 2
Options:

HYw Ty st
91394333353,

91334533554,

91334533355,

91334533556,

Question Number : 90 Question Id : 9139438487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which one of the following years did India liberate Goa from the Portuguese ?

Options:

B91334533357. 1948

91334533558, 1960

9153394233359, 1961

91334533560, 1968



Question Number : 90 Question Id : 9139438487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

v A Frfafiga 3 @ foem ad & gdma & e 6t g6 e o1 2

Options:

91334533357, 1948

91334533558, 1960

913345235359, 1961

2153394233360, 1968

Question Number : 91 Question Id : 9139438488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
In which one of the following places is the Indian Naval Academy situated ?
Options:
Kolkatt
91394333361, o0

Vishakhapatnam
91334333362,

91394333363, Lumpal

91334533564,

Question Number : 91 Question Id : 9139438488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

it Fifs st freaffas da e wfBa g 2
Options:

91334533361,

91334533362,

91334533563,

2915394233564,



Question Number : 92 Question Id : 9139438489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who amongst the following was the Defence Minister of India during Kargil operation ?

Options:

Jagjivan Ram
21394233265,

George Fernandez
91594333566,
91394333367, LD Chavan

A K. Antony
91594333568,

Question Number : 92 Question Id : 9139438489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i AT % S0 w1 e vt Pefafaa 4 @ S a2

Options:

91394333365, SRl
91394333366, N ws
91394333367 A, T
91394333368. . TR

Question Number : 93 Question Id : 9139438490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How countries perceive other countries’ current or potential power and its reputation for
being willing or not willing to use it, is as under :

Options:

Soft power
91394333369,

Power capaci
91394233370 paciy

Objective power
A13942323271. ) po



Subjective power
91394333572,

Question Number : 93 Question Id : 9139438490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

&n fore g =g 2t B S A Gyren wifes i wegw wa § oft 3w wfte ot geet @ sifem &
SR S R IER SfEn w0 A war g 2

Options:

H1334533569. T 6

2153942335370, i

Fegfse o

912334533271,

B13345332372. Wi

Question Number : 94 Question Id : 9139438491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Guantanamo Bay’ is located in which one of the following countries ?
Options:
Mexico

H1334533573.

91394333374 CUb2

91394333375, Cuatemala

Nicaragua
91334333376,

Question Number : 94 Question Id : 9139438491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘NaraE & frefafes d @ fm dnd fem 2 0

Options:

91334533573,

9123345332374,



9153394233575,

Freprran

B13345332376.

Question Number : 95 Question Id : 9139438492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Bosphorus Strait connects which of the following two seas ?

Options:

91394333377 Black Sea and Adriatic Sea

91394333575, orth Sea and Black Sea

91394333379, o8 of Marmara and Black Sea

91394333380, Mediterranean Sea and Adriatic Sea

Question Number : 95 Question Id : 9139438492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AERIE Taeaeae frefafiaa § @ fm < arrd =t drgar 2 2
Options:

e G #HR ufgufes arn
91394333377,

91334533278, s M

913345332379, 3

e T 3 ufgufes wrn
91394333380,

Question Number : 96 Question Id : 9139438493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In international relations, power can be described as
Options:

91394333351 Multifaceted



Normative

91394333382,
Tangible

91394333383,

91394333334, Otatc

Question Number : 96 Question Id : 9139438493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

sfedta gadt #, it =t o wa o aftfe e s asm 2 2

Options:

915324333581, w
91394333582, AFhI
91394333383,
91394333584, Al

Question Number : 97 Question Id : 9139438494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is nof an assumption of Realism ?

Options:

Anarchy
91394333385,

State i cto
91394333356, ates as main actors
913943333y, - oves asrational actors
913043333y otates as irrational actors

Question Number : 97 Question Id : 9139438494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gurefarg i Frafafaa 9§ @ Ha-of g 78 & 7

Options:



91334533585,

il & &9 H 759
91394333386, =

91334533387, 1 % ¥ H T

913345335388, 1 % ¥ H o=

Question Number : 98 Question Id : 9139438495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following thesis hold that democracies do not fight democracies ?

Options:

Democratic peace theo
913942333289, pe v

91394333390, iperalism

Cooperative theo
913494232391, pe v

Balance of power theo
Q1394332392 po v

Question Number : 98 Question Id : 9139438495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafeafiga 4 & form wemen (ofifda) < g 2 fo Siaa i dida & o8 78 2t 2
Options:

913345335389,

2153942335390,

91334533591,

e dqe fagia
91394333392,

Question Number : 99 Question Id : 9139438496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



71 <1 Bfa % fufor i Freafefiaa 9 @ w194 sqaerd ofsen B, S st 7 ofe 4 9fg g

Hherdn =i i

Options:

o IERI AT T T FAd B ?

T FeAifa

9153342333935,

91234533294

| fguafra gehifa

At Feifa

91334533335,

B13345335396

Question Number
Single Line Quest

_@Fﬁ@ﬁ%

1 99 Question Id : 9139438496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is a viable process of creating an image that enhances a
country’s ability to achieve diplomatic success by increasing its soft power ?

Options:

Parliamentary diplomacy

91334533593,

Bilateral diplomacy

912334533294,

Public diplomacy

H1334533595.

Open diplomacy

91334533396,

Question Number
Single Line Quest

1 100 Question Id : 9139438497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is known as the US President’s ‘Emergency Satchel’ ?

Options:

Nuclear Football

913345333597,

Black Box

2153342333956,

Code Case

B13345335399.

Black Briefcase

91334523400,



Question Number : 100 Question Id : 9139438497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=fefiga 4 @ frget amfeht tegufa & ‘amum ==’ & &9 & 591 W 8 7
Options:

~fFer geaia

913345333597,

91334523298, il

91334533299,

2912334533400, il

Question Number : 101 Question Id : 9139438498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is related to a Game Theory scenario in which two completely
rational individuals might cooperate even if it appears that it is not in their own interest to
do s0 ?

Options:

Security dilemma
91394233401,

9139433340 risoner’s dilemma

Zero-sum-game
91394333403,

Strategic dilemma
Q1394232404 tegl

Question Number : 101 Question Id : 9139438498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa # & St T ol fafien @ gefia 2, food ¢ pled fdeam safw gegm =
TFd g, Ve R T a s r s s Rad adi & 7

Options:

an g

91334533401,

e

2912334533402,



91394333403, -z

ward o gfam
91394333404,

Question Number : 102 Question 1d : 9139438499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The model of “Complex Interdependence” was developed by which two of the following

well-known scholars ?
Options:

Robert O. Kechane and Joseph Nye
91394233405,

Henry Kissinger and Richard Nixon
291394233406,

Kenneth Waltz and Owen Taylor
21594233407,

Barry Buzan and W.B. Gallie
91394333408,

Question Number : 102 Question Id : 9139438499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafaa 4 @ ffa <t foreama sremant 3 “Siee sa-Fdar” o afea =t fRswfa fem o 2

Options:

491394333405, uee 1 S S T

wlt forftram oft frad fram
91334333406,

Y dlegd AN AT TR
91394333407, ‘

91394333408, 30 o 3 see A e

Question Number : 103 Question Id : 9139438500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who amongst the following theorists is associated with Neo-realism in International
Relations ?

Options:



91394333409, enneth Waltz

Hans Morgenthau
H91334533410.

91394333411 Reinhold Wiebuhr

John Ruggie
Q1294332412 88!

Question Number : 103 Question Id : 9139438500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafias 4 @ s-m fagiaer st gagi # F9-gurefarg @ gafiq 2 2
Options:

Y dTeeH
91394333409

& Hhfeernant
91394333410,

fidiee foge

912334533411,

91334533412, i vl

Question Number : 104 Question Id : 9139438501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following pairs is not correctly matched ?

Options:

91394233413, Positivism — Leo Strauss

91394333414 Tationalism —Thomas Hobbes

91394333415, Structuralism — Louis Althusser

9139433341g, 1 ost-Structuralism — Michel Foucault

Question Number : 104 Question Id : 9139438501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Prferfiga 3 & Sia-ar 3w wdt <0 @ gofem 78 8 2
Options:

wegearg — feed =g
91394335413,

THRUTIHATE — HTHE Bied
91394333414,

HIEATETE — 58 3oy
913943334165,

FEL-HCHATETG — ATgheA Foht
913943334186,

Question Number : 105 Question Id : 9139438502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who amongst the following is associated with the Systems Theory in International
Relations ?

Options:

Morton Kaplan
91394233417,

91394333415, ‘- Hacker

91394333419, Robert 0. Keohane

91394333420, —rnstB. Haas

Question Number : 105 Question Id : 9139438502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freferfaa & & #iv siasfia gau & yoreft fagia @ gafia 2 2
Options:

91334333417,

T, FH

291594233415,

dad a1, frsiiea

H91334533419.

HE =t
91394333420, w



Question Number : 106 Question Id : 9139438503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is not related to the three pillars of human security in the
political context of the United Nations ?

Options:
91394333421, | recdom from fear
91394333425 Freedom from want
Freedom from right to protection
2153942334235,
Freedom of future generation to inherit healthy environment
91594333424,

Question Number : 106 Question Id : 9139438503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafiaa 4 @ sh-m 3w wg % vorlifrs ged o e guan & 7 ot @ gefia T 2 0

Options:

w8
91394333421, o
e |
91394333422 i
&1 % aAfan & g
91394333423
wareee wataton it farad gq Wt Gt 6 gfw
91394333424

Question Number : 107 Question Id : 9139438504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A source of conflict during the Cold War period for the US belief was propounded in which
one of the following theories ?

Options:

91394333405, Collusion

91394333426, DOmInO



Hegemony
91394333427,

91394333405, Collision

Question Number : 107 Question Id : 9139438504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

M 3¢ % Fra % g smfeht favarm 3 foo god 1 o gta Frafafag & @ fen fagio 3 wfofa
a1 7

Options:

91334533425,

21594233426,

91334533427,

2915334233425,

Question Number : 108 Question Id : 9139438505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The term ‘Push to the Utmost’ relates to which one of the following ?

Options:

91394333409 W ar of attrition

Strategy of indirect approach
Q13943232430 8y PP

91394333431, ‘ipsolute war

91394333430, up-conventional war

Question Number : 108 Question Id : 9139438505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qu 7 3 e’ (Fftan o wehe) vg Frefefiaa 4 @ frod wafia 2 2
Options:

ife
91394333429, L



HAYFGE IINTH I T

91394333430.

91394333431, T
99T g

91394333432,

Question Number : 109 Question Id : 9139438506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is identified as the fore-runner of “Revolution in Military
Affairs” ?

Options:

Nuclear weapons
91394333433,

Nerve gases
91334333454,

Biological weapons
913324523435, &t pe

Lagzer weapons
912943332426,

Question Number : 109 Question Id : 9139438506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Efe mrret d wifa” & qEet % w9 | Fefefaa 9 @ feawt fafeq fem s @ 2

Options:

91394333433, b 3
91334233424, 3 e
91394333435, e 3
91394333436, T

Question Number : 110 Question Id : 9139438507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who stated that ‘Climate change’ is relatively a bigger threat than ‘International terrorism’
in the years to come ?
Options:

91394333457, Lofi Annan

Tony Blair
91394333438,

David King
91394233439,

Rajendra Pachauri
291394233440,

Question Number : 110 Question Id : 9139438507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feret an o fop “Sierary aftad=’ smit adt § sttt sdwarg’ it ga § iR u A
agT =t g ?

Options:

91334533437,

91334533438, 2

91334533429, o

g e

91334523440,

Question Number : 111 Question Id : 9139438508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following iz not the tangible element of National Power ?
Options:
Military capabili
91394333441, P v

Scientific and industrial capability
21394233442,

Population
91394253445,

91394333444 National will



Question Number : 111 Question Id : 9139438508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wsdta wifvs o Frefefaa & @+ arafes (qd) o= adfe 2

Options:

91334533441,

afe oft stenfire e
91394333442,

91334533443,

TG =

91334523444

Question Number : 112 Question Id : 9139438509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following is nof a chemical warfare agent 7
Options:

Chloropicrin
91394233445,

Phosgene
91324533446,

91394333447, 12Pun

91394333445, ‘ nthrax

Question Number : 112 Question Id : 9139438509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafiga d @ 919 vanafe ggad =1 afims 78 & 2

Options:

91334533445,

21594233446,

91334523447,



LS L]

91334533448,

Question Number : 113 Question Id : 9139438510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
With which one of the following leaders, was the term ‘Long March’ associated ?

Options:

91394333449, oMn

91394333450, ahatma Gandhi
Mao-tse-Tung

91394333451

41394333452 Subhash Chandra Bose

Question Number : 113 Question 1d : 9139438510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frefefiaa # @ formm S % wg ‘T W g g 2 ?

Options:
91394333449,

wETedt it
91394233450,

LI R
291394233451,

Uy I3 9
91394333452,

Question Number : 114 Question Id : 9139438511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two lists given below, List I provides the list of Concepts, while List II indicates
Proponents. Match the two lists and choose the correct answer using the code given below :

List I List II
(Concept) (Proponent)
(a) Soft State (i) Sidney Verba

(b) Communication (ii) Heinz Eulau
(¢) Civic Culture (iii) Karl Deutsch
(d) Behaviouralism (iv) Gunnar Myrdal
Code:

Options:

(a)—iv), (b)—(iii), (e)(i), (d)—(ii)
91394353453,

(a)—(ii), (h)—(iii), (e)—(i), (d)—(iv)
91394353454,

(a)—{iv), (b)—(1), (e)—{iii), (d)—(ii)
91394333455,

(a)—(ii), (b)—(1), (e)-iid), (d)—iv)
91234233456,

Question Number : 114 Question Id : 9139438511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= 31 gferaf € 78 &, gt 17 araurond, wfe gt 116 sfaures § | 9 <1 gl 9 gitfem i
i = fau Mo e T d g wE I g

LSip! g I
(ararerom) (wfare=h)
(a) 95 T4 (i) foedt gat
(b) EEoT (i) wTEA gaAr
(c) firfer womt (iii) el sfa=
(d) =HFERETS (iv) TaR firda
C T
Options:

(a)—iv), (b)—(iii), (e)(i), (d)—(ii)
91394353453,

(a)—(ii), (b)), (e)i), (d)-iv)
91594233454,

(a)—(iv), (b)—(i), (e)(iii), (d)—(ii)
91334353455,

(a)—(ii), (b)—(1), (e)—(iii), (d)—liv)
91394333456,



Question Number : 115 Question Id : 9139438512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the two lists given below, List I provides the list of Doctrines, while List I1 indicates
Objectives. Match the two lists and choose the correct answer using the code given below :

List I List I1

(Doctrine) (Objective)
(a) Wilson Doctrine (i) Support to free people
(b) Carter Doctrine (ii) Support to allies
(¢) Nixon Doctrine (iii) Hegemony over Persian Gulf
(d) Truman Doetrine (iv) Interventionist policies
Code:

Options:

(a)—(ii), (b)—iv), (e)i), (d)iii)
91234233457,

(a)—{iv), (b)—(iii), (e)(id), (d)—~(D)
91594233458,

(a)—i), (b)—(ii), (e)—(iv), (d)(iii)
91394333459,

(a)—(iv), (b)(ii), (e)—(i), (d)iii)
91394333460.

Question Number : 115 Question Id : 9139438512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

92 3t gt 4 w8 &, gt 19 frgrea, wats ot 11 6 2w ¥ | 39 9N o i gifra ifi sk
Fr faw T Fe v g A I A gh

I HEt I
(frgr) (7=w3)
(a) fem fgma (0 <l %t wea 6 % fore g
(b) w1 fagrma (i) wearft 3o A wera
(c) Frem fagrma (i) B 6t @it W snfiae
(d) gia fagma (iv) eeadaTd A
% :
Options:

(a)(ii), (b)—(iv), (e)-(i), (d)iii)
91394333457,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394353458,

(a)—(D), (b)—(ii), (e)-(iv), (d)iii)
91394333459



(a)—{iv), (b)id), (e)—(i), (d)—iii)
91394333460,

Question Number : 116 Question Id : 9139438513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Defence Institutions in India, while
List IT indicates Place of establishment. Match the two lists and choose the correct answer
using the code given below :

List I List IT
(Defence Institution) (Place of Establishment)
(a) Air Force Academy (i) Ezhimala

(b) Indian Military Academy (ii) New Delhi

(c) Indian Naval Academy (iii) Hyderabad
(d) National Defence College (iv) Dehradun

Code:

Options:

(a)—ii), (b)—(iii), (e)—(i), (d)—iv)
91594233461,

(a)—iv), (b)—(iD), (e)—(iil), (d)~(1)
91334233462,

(a)(iii), (b)—(iv), (e)-(i), (d)—(ii)
91534233463,

(a)—(i), (b)—(iii), (e)-ii), (d)~(iv)
91234233464,

Question Number : 116 Question Id : 9139438513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frr g1 gferat € md &, it 18 wra o tan e, i gt 11 e & w0 # | g gt b
gafers R 3iv A Ry T e T R T A IR A SR

gt A I
(e Heam) (TeTaT =7 TUH)
(a) 9Tg &1 yhreHt (i) gt
(b) Wreta & spredt (i) w§ faght
(c) Wreta e ahrerdt (i) BgumTg
(d) T e wEfaETeE  (iv) R0
C T
Options:

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
91334233461,

(a)—iv), (b)—(id), (e)-(iid), (d)—(1)
91394333462,



(a)(iii), (b)—(iv), (e)-(i), (d)—(ii)
91394333463,

(a)—(1), (b)(iii), (e)-{ii), (d)~iv)
91234233464,

Question Number : 117 Question 1d : 9139438514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following military operations in ascending order :
(i)  Operation Cactus
(il  Operation Brasstacks
(iii) Operation Meghdoot

(iv) Operation Pawan
Choose the correct answer from the code given below :
Code:

Options:

(1a1), (i), (iv), (1)
91334533465,

(id), (iw), (1), (iii)
B12334533466.

(1), (iid), (iw), (i)
91334533467,

(i), (11i), (1), (i)
91334533468,

Question Number : 117 Question Id : 9139438514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefeifiga &= wriargal =t e 9 1 sqafeam Hifa ;
(i) HEH e

(i) I FrEead

(iii) 3T Hergd

(iv) ATHIA Taq

= fm e % | | T I ghh

& :

Options:

(idi), (ii), (iv), (1)
H912334533465.

(in), (iv), (i), (1ii)
H13345334EE.



(1), (1i1), (iw), (i)
91334533467,

(i), (11i), (1), (1)
91334533468,

Question Number : 118 Question 1d : 9139438515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following North Korean missile tests in the ascending chronological order :
(i) Taepedong-1 missile test
(ii) First test fire of Rodong missile
(iii) First Scud-B missile test by North Korea
(iv) Taepedong-2 missile test
Choose the correct answer from the code given below :

Code :
Options:
(an), (iw), (1), (1ii)
91=94333469.
(111), (i), (i), (iv)
91394333470,
(iw), (1), (ii), (iii)
91Z942332471.
(1), (1dd), (iw), (i)
91394333472

Question Number : 118 Question Id : 9139438515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frferfiaa e wifarg werares vl it ST HresraaR saafera Hif :
(i) ergfigin-1 gaars sl
(ii) TS wEre 1 ggen i whem
(i) I hifean g o ews-t e wao
(iv) ergfrein-2 waares altem
4 Ry e Fe & | T I H TP
& :
Options:

(id), (iw), (1), (iii)
B912334533469.

(1), (ii), (i), (iv)
H91334533470.



(1w}, (1), (1), (111)
91334333471,

(1), (i), (iv), (11)
91334533472,

Question Number : 119 Question 1d : 9139438516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the two lists given below, List I provides the list of Books, while List 11 indicates Authors.
Match the two lists and choose the correct answer using the code given below :

List I List IT
(Book) (Author)
(a) Masters of International Thought (i) Thucydides
(b) The Peloponnesian War (ii) Trevor Taylor

(¢) Approaches and Theory in International Relations (iii) Robert Jervis
(d) The Logic of Images in International Relations (iv) Kenneth W. Thompson
Code :

Options:

(a)—(ii), (b)—(iii), (e)~(1), (d)—liv)
91394333473,

(a)—(iii), (b)(ii), (e)—(iv), (d)—(i)
91234233474,

(a)—(iv), (b)), (e)(ii), (d){iii)
91394333475,

(a)—(ii), (h)—(i), (e)—(iii), (d)—(iv)
91394353476,

Question Number : 119 Question Id : 9139438516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr= <t gfeat § 78 €, gt 15 geash, safh gt 11 # @ | 37 51 gieat =t gafaa fifvm ok
Fr fw e g2 w1 v wd gy wE I ghe

g1 1T

() (ver)
(a) ATEH HE FoETHE Ui (i) oydteTEEa
(b) g Yerarafias an (i) o ¢

(c) T U2 @l @ oo fleiome (i) T Sifda
(d) g @iforh 31% Fior §9 e farems (iv) 9 geeq, yivsas

He
Options:

(a)—(ii), (b)), (e)(i), (d)-iv)
912394233473,



(a)—iil), (b)~id), (e)—(iv), (d)~1)
91394333474,

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
91394333475,

(a)—ii), (b)—(i), (e)-(iii), (d)—iv)
91334533476,

Question Number : 120 Question Id : 9139438517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following arms control treaties in their ascending order of conclusion :
(i)  Open Skies Treaty
(i) INF Treaty
(iii) Comprehensive Test Ban Treaty
(iv) SALT -1

Choose the correct answer from the code given below :
Code:

Options:

(i), (1), (iii), (i)
212334533477,

(iw), (i1), (i), (iii)
91334323478,

(1), (iv), (i), (i)
91334323473,

(1), (111), (i), (iv)
91334533480,

Question Number : 120 Question Id : 9139438517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frerfefiaa srea Fraor dftr it 379 o awen 29 % i s | srafeya $ifm
(i) e s |fa

(i) ... |

(iii) =aT9eh witerm fdy dfa

(iv) & —1

= few e g2 # | ot I W g
C T
Options:

(iw), (1), (iii), (1)
91334533477,



(iw), (ii), (1), (ii1)
91334533475,

(1), (iv), (i), (i)
91334533473,

(1), (iai), (i), (iv)
912334533480,

Question Number : 121 Question Id : 9139438518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Operations of the Indian Navy, while
List IT indicates Year of Occurrence. Match the two lists and choose the correct answer
using the code given below :

List I List IT
(Operation) (Year of Occurrence)
(a) Operation Lehar (i) 2001
(b) Operation Sahayata (ii) 2003
(¢) Operation Shield (iii) 2014
(d) Operation Denim (iv) 1994
Code:
Options:
(a)—(iii), (b)—(i), (e)~(iv), (d)—(ii)
91394333481,
(a)—i), (b)—(ii), (e)-(iii), (d)—(iv)
91394233482,
(a)—(iv), (b)—(iii), (e)(ii), (d)—(i)
21394253483,
(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
915942333454,

Question Number : 121 Question Id : 9139438518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 3t gt 4 8 &, gt 19 weta AE F oy, wwte g 11 29w af § | 39 S gt
g B st A fe T e ST A Y R g

g1 |t 1T
(arfatm) (F w1 =)
(a) HATRIA T8 (i 2001
(b) IATHIA HEF (i) 2003
(¢) #ToizA fes (iii) 2014
(d) arfatem 2fm (iv) 1994

C T



Options:

(a)—iii), (b)), (e)—(iv), (d)—(ii)
H91334533481.

(a)—1), (b)—11), (e)-(iii), (d)—iv)
91394333452,

(a)—(iv), (b)—(ii), (e)—(1), (d)—(1)
91334533483,

(a)-ii), (b)—iv), (e)—i), (d)—(iii)
913945333454,

Question Number : 122 Question Id : 9139438519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Misgiles, while List 1T indicates
Countries. Match the two lists and choose the correct answer using the code given below :

List I List I1
(Missile) (Country)
(a) Kai Shan-I (KS-1) (i) India
(b) Crotale (ii) China
(e) Helina (iii) France
(d) Tausus KEPD 350  (iv) Germany
Code :
Options:
(a)—iv), (b)—(i), (e)—(ii), (d)—(iii)
91594333455,
(a)—iii), (b)—(1i), (e)—(iv), (d)—(1)
21594233456,
(a)—(ii), (b)—(iii), (e)—(1), (d)—(iv)
91394332487,
(a)-1), (b)—(iv), (e)—(ii1), (d)—{(ii)
91:943334886.

Question Number : 122 Question Id : 9139438519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr=r 3 gfeaf § 3 &, gt 19 werores, swafs gt 119 30 8 | 39 51 gfemt i gafea fifvw il
fr= fau o F w T = g wE I g

Tt 1 Tt I

(wéraren) (3m)
(a) g wH-1 (%.74.-1) (i) W
(b) FIed (i) ¥
() &ferm (iii) wid

(d) dteE +.3.4.2%. 350 (iv) Wt

He
Options:

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
913945333485,

(a)—(iii), (b)(ii), (e)—(iv), (d)—(i)
912394233486,

(a)—(ii), (h)—(iii), (e)—(i), (d)—(iv)
91394333487,

(a)—i), (b)—(iv), (e)—(iii), (d)—(ii)
91394333488,

Question Number : 123 Question Id : 9139438520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Operations of the Indian Navy, while
List II indicates Year of Occurrence. Match the two lists and choose the correct answer
using the code given below :

List I List IT
(Operation) (Year of Occurrence)
(a) Operation Bolster (i) 1994
(b) Operation Muffet (i) 1993
(¢) Operation Blossom (iii) 2011
(d) Operation Restore Hope (iv) 1992
Code:
Options:

(a)(i), (b)—(ii), (e)-{(iii), (d)-iv)
91594233489,

(a)—(ii), (h)—(iii), (e)—(iv), (d)—(i)
912394333490.

(a)—iil), (b)~(iv), (e)~(i), (d)—(ii)
913943334391,

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394333492



Question Number : 123 Question Id : 9139438520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr=r 5t gfemaf § nd €, g=ft 19 wefte e % srfotem, sl gt 1 d 29 % ad 1 39 51 gt
it grfera hiforg oft = fgw T e o1 @ = g ad I g

Tt 1 Tt I
(arfaom) (F7 = ad)
(a) HTEA dewt (i) 1994
(b) ATHIA THe (i) 1993

(e) FTRIA =ATGH (iii) 2011
(d) o fegt 8T (iv) 1992

He
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)-iv)
91234233489,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91394333490

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
91334233431,

(a)—(iv), (b)—~(1), (e)—{ii), (d)—(iii)
91394333492,

Question Number : 124 Question Id : 9139438521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Steel Plants, while List 11 indicates
Collaborators. Match the two lists and choose the correct using from the code given below :

List I List IT

(Steel Plant) (Collaborator)
(a) Durgapur (i) Germany
(b) Rourkela (ii) Britain
(¢) Bokaro (iii) The former USSR
(d) Bhilai (iv) The former USSR
Code:

Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91334233433,

(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
91234233434,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234233435,



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394333496,

Question Number : 124 Question Id : 9139438521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= 3t gt & 8 &, gt 19 geura g, wats g 1 F gearft § | 9 S it 9 g S
i = fw e e w1 wEm wa g wE I o g

Th T
(3T To=) (wgait)
(a) GG (i)
(b) TITHT (i) forém
(c) et (iii) & 4,08, H. A,
(d) firemd (iv) & 4, TH. 6.1,
T4
Options:
(a)—(ii), (b)—(i), ()i, (d)—(iv)
91394333493,
(a)—(1), (b)), (e)—(iv), (d)—iii)
91394333494,
(a)—(1), (b)—(ii), (e)—iii), (d)—(iv)
91394333495
(a)—(iv), (b)—(iii), (e)—(id), (d)—(i)
91394333496

Sub-Section Number: 2
Sub-Section 1d: 913943426
Question Shuffling Allowed : Yes

Question Number : 125 Question 1d : 9139438522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Nations adopted the Principle of Collective Security in place of Balance of
Power.

Reason (R) : The First World War was a failure of Balance of Power.

Options:

(A) is correct, but (F) iz not correct.
Q1294222497



(A) is not correct, but (R) is correct.

9] 3942323498,

Both (A) and (R) are correct.
Q13943323499

Both (A) and (R) are not correct.
91294232500,

Question Number : 125 Question Id : 9139438522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= gt e fgm o &, ol & ueh sfirper (A) B oft g@u o (R) B 1 et i fge oft i g mo
e AT F T I g |

firpgT (A) - T 3 W% 5 Fae % S W i gen % figa -t = e |

7 (R) : wum fava 3 wite & dgem A sraweran 4t |

Options:

(A) T B, 9 (R) Tera 2 |
91394333497,

(A) TeTd &, 9 (R) T8 2 |
91394333498,

(A) 3 (R |
91394333499, ) ) 3w &

(A) 3 (R Terd 8 |
91394333500, ) )T g

Question Number : 126 Question Id : 9139438523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Nuclear weapons and their delivery systems represent the enormous
devastative potential acquired by the Nuclear Weapons States.

Reason (R) : Nuclear Weapons are the only weapons which have transformed the post-1945
international politics as the international currency of power.

Options:

(A) is correct, but (R) is not correct.
Q91594222501

(A) is not correct, but (R) is correct.
Q1=294332502,

Both (A) and (R) are not correct.
Q1294222502



Both (A) and (R) are correct.
91394232504,

Question Number : 126 Question Id : 9139438523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A= 3t o fog e 8, fd @ s afirem (A) R i g0 7% (R) ® | e =t wfen otk = far e
e 1 FE F T I g |

Sl (A) - sy gfeam it 3 faaon someft sy afiem gua wsgl g ww i 1E srefus
fereaamens o =t gufd € |

% (R) - s gheam & v gfm § el 1945 % arg smmddta vorlifa &6t sadsdia ofe 6
Tt % ¥ gftorg e

Options:

(A) §8 B, T (R) Teid 8 |
91394333501,

(A) TeTd &, 9g (R) &t 2 |
913934333502

A) (R Terd 8 |
91394333503, &) 3R (R T g

A) (R I
91394333504, (&) 3R (R) T Tt §

Question Number : 127 Question 1d : 9139438524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= 3t @ fog e 8, T @ o atfirrem (A) R of qga 7% (R) | e =t wfen ofk e fog o
e AT FHE I g |

HFYT (A) - FAredaTd) Wil i TR qlt & 9fq I F AW F w9 H " gfonfig w5
2

7% (R) : @Ayl & wrg-ars 3 wifts % dge & arem & wifa wnfia s aedt

Options:

A) (R TeAd & |
91394333505, @ 3 ®) 3 g

(A) TE B, 7 (R) Terd & |
91394333506,

(A) 3 (R) 9T (R), (A) i T8t =amEar & |
Q1394223007 fFﬁ'E'gﬁﬁ @ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394333508,

Question Number : 127 Question Id : 9139438524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Realists usually define peace in negative terms — that is, as the absence of
war.

Reason (R) : Peace can be established through the manipulation of alliances and balance of
power.

Options:

Both (A) and (R) are not correct.
91394332505,

(A) is correct, but (R) is not correct.
91294333506,

Both (A) and (R) are correct and (R) is the correct explanation of (A).
9123942332507,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394332508,

Question Number : 128 Question Id : 9139438525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Declining capital budget will hamper military modernization efforts and
reduce projections of India’s advantages over Pakistan.

Reason (R) : India’s defence budget is growing at a gradual pace but rising personnel costs
are eating out resources for modernization.

Options:

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394332509,

Both (A) and (R) are correct and (R) is the correct explanation of (A).
Q1394232510

(A) is correct, but (R) is not correct.
91394232511,

(A) is not correct, but (R) is correct.
91394332512,

Question Number : 128 Question Id : 9139438525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fr= &t %o fog o 8, Fod @ v stfirspe (A) R sfo @ 7% (R) 8 | el 1 afgn off i fig o
e FE F=ad I g |

e (A) : Gt o 1 ueA 80 SRR & TETE! i seeg HOT A w6 ge |
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Options:

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394333509,

(A) #(R) 9T (R), (A) 1 Tt =grEan & |
91394333510. i § w &

(A) TE B, (R) Teid 2 |
91394333511, A

(A) Ted B, (R) W&t & |
Q1294223512 e

Question Number : 129 Question Id : 9139438526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

dssertion (A) : Government authorities and political leaders in democratic countries are
under pressure to win broad local support to push development agenda.

Reason (R) : 1t is recognized that democracy is the best means of setting a development
agenda.

Options:

Both (A) and (R) are correct.
Q1394222513

(A) is correct, but (R) is not correct.
913494232514

Both (A) and (R) are not correct.
Q1394333515

(A) is not correct, but (R) is correct.
91394=335516.

Question Number : 129 Question Id : 9139438526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr= 31wy feu e 8, ford @ us e (A) @ 3 gEo 7% (R) B | Sl =i fen st = fag mo
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Options:

A) 3 (R I
91394333513, &) R (R) 3 7 8

(A) Tt 7, (R)Ted 2 |
Q1=394=2==514, m

A) # (R TeAd & |
91394333515, @ 3 R) 3 g

(A) T &, Wg (R) @&t 2 |
91394333516,

Question Number : 130 Question Id : 9139438527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
dssertion (A) : In the face of India’s growing conventional advantages, Pakistan may he

tempted to increase reliance on nuclear weapons.

Reason (R) : There is no substitute for military capabilities necessary for conventional
defence and internal security.

Options:

Both (A) and (R) are correct.
Q1394333517

(A) is correct, but (R) is not correct.
Q1294222515

(A) is not correct, but (R) is correct.
Q15942322519

Both (A) and (R) are not correct.
Q1394333520

Question Number : 130 Question Id : 9139438527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 131 Question Id : 9139438528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

dssertion (A) : During the Cold War period, the prevailing Western conception of Nation
Security gradually shifted from ‘National Security’ to ‘International Security’.

Reason (R) : During the Cold War period, the content of security was seen as being
fixed — military security against the military power of other States.

Options:

Both (A) and (R) are correct.
Q13943233521

(A) is correct, but (R) is not correct.
A1=294=2=235202

Both (A) and (R) are not correct.
Q1394333523

(A) iz not correct, but (R) is correct.
913942332524,

Question Number : 131 Question Id : 9139438528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 132 Question Id : 9139438529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : While nuclear weapons have evident weight as currency of power for
external dimensions of National Security, they cannot avert threats and overt challenges to
India’s territorial integrity, including from domestic unrest, cross-border militancy and
terrorism.

Reason (R) : Nuclear weapons cannot offer any protection against the sub-conventional
threats and challenges to India’s National Security posed by non-State actors.

Options:

Both (A) and (R) are correct.
Q1394333525

Both (A) and (R) are not correct.
Q1=294=2=23508,

(A) is correct, but (R) is not correct.
A]1394233527.

(A) is not correct, but (R) is correct.
Q1=294333508,

Question Number : 132 Question Id : 9139438529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 133 Question Id : 9139438530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The best strategy to ensure our security and to build a durable peace is to
support the advance of democracy elsewhere.

Reason (R) : It is believed that demoeracies don’t attack each other.

Options:

Both (A) and (R) are not correct.
Q1394333529

Both (A) and (R) are correct.
912494232530,

(A) is correct, but (R) is not correct.
Q915942322551

(A) is not correct, but (R) is correct.
Q1294332552

Question Number : 133 Question Id : 9139438530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 134 Question Id : 9139438531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

dssertion (A) : Gender has always been present in understanding of International Security,
but this has rarely been acknowledged.

Reason (R) : While in war time women are rarely involved in direct combat, they are
frequently the majority of the victims.

Options:

Both (A) and (R) are correct.
Q1394233533

Both (A) and (R) are not correct.
91394232534

(A) is correct, but (R) is not correct.
Q1594332555

(A) is not correct, but (R) is correct.
91394335536,

Question Number : 134 Question Id : 9139438531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Preservation of Balance of Power is the most important goal of the ‘Balancer’.

Reason (R) : ‘Balancer’ has no permanent friends and enemies.

Options:

Both (A) and (R) are not correct.
Q1394333537

(A) is not correct, but (R) is correct.
Q1294232555

(A) is correct, but (R) is not correct.
9134943233539,

Both (A) and (R) are correct, but (R) is not the correct logic of (A).
Q1294233540

Question Number : 135 Question Id : 9139438532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 136 Question Id : 9139438533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 136 Question Id : 9139438533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The pursuit of security by a State is central to its existence and can never be
fully achieved.

Reason (R) : The State controls its citizens and establishes their pursued identity by
contrasting the domestic realm of order with the insecurities beyond the State’s border.
Options:

(A) is correct, but (F) iz not correct.
Q1294232541

(A) is not correct, but (R) is correct.
91594232542

Both (A) and (R) are correct.
Q1394333543

Both (A) and (R) are not correct.
Q1294223544

Question Number : 137 Question Id : 9139438534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The Central Asian regimes are unable to offer good governance.

Reason (R) : These regimes are corrupt, dictatorial and unwilling to reform.

Options:

Both (A) and (R) are correct.
Q1394233545

Both (A) and (R) are not correct.
913942323548,



(A) is correct, but (R) is not correct.
Q1594232547

(A) is not correct, but (R) is correct.
Q12943323545

Question Number : 137 Question 1d : 9139438534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 138 Question Id : 9139438535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

dssertion (A) : Societal security can be defined as “the sustainability, within conditions of
evolution, of traditional patterns of language, culture and religious and national identity
and custom”.

Reason (R) : In reality, societal security received far less attention than other areas such as
economic and environmental security.
Options:

(A) is correct, but (R) is not correct.
Q1594232549

(A) is not correct, but (R) is correct.
Q1294332550

Both (A) and (R) are correct, but (R) is not the logic of (A).
91394253551,

Both (A) and (R) are not correct, nor is (R) the logic of (A).
Q1594232552



Question Number : 138 Question Id : 9139438535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 139 Question Id : 9139438536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : India is now able to assist other countries through its space technology to
mitigate the effects of natural disasters.

Reason (R) : During the 2015 earthquake in Nepal, remote sensing data obtained from
Indian satellites were analysed in near real time to identify the collapsed structures
resulting due to earthquake.

Options:

Both (A) and (R) are correct.
Q13943232553

(A) is correct, but (R) is not correct.
Q1294223554

Both (A) and (R) are not correct.
Q1394333555

(A) is not correct, but (R) is correct.
91394335556,

Question Number : 139 Question Id : 9139438536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 140 Question Id : 9139438537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Both India and Pakistan can learn from each other’s experiences in
governance, socio-economic development and how to cope with poverty and violence.

Reason (R) : Both the countries are facing challenges to improve the quality of life for the
ordinary people residing in their respective countries.

Options:

Both (A) and (R) are not correct.
913494233557,

Both (A) and (R) are correct.
Q139433355 E,

Both (A) and (R) are correct and (R) is correct explanation of (A).
91394253559,

(A) is correct, but (R) is not correct.
Q1594232560

Question Number : 140 Question Id : 9139438537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr= 31wy feu e 8, ford @ us e (A) @ 3 gEo 7% (R) B | Sl =i fen st = fag mo
Fe I TEM FHE I g |

Fforepe (A) - a3 arfereara St et (gemes), amrfs-onfis fawm oftt mitdht v o &
qeTae 8 foRan <me, 3 wEl | Uh-gE % wval d e ohd | |

7% (R) : 31 <0 A9-3794 <1t § 1@ T8t 31 et & Sfia i qoren § gun | gadt gt 5
TR R |

Options:

A) (R Teld & |
91394333557 @& 3R (B T g

(A) 3 (R) 3T &t § |

9153394233558,

(A) 3 (R) q9T (R), (A) i 98t =amean & |
91394333559, i wd & e &

(A) TE B, 7 (R) Terd & |
91394333560,

Question Number : 141 Question Id : 9139438538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

dssertion (A) : Production of nuclear materials is generally the most difficult and expensive
part of producing a nuclear weapon.

Reason (R) : Leakage of significant amounts of weapon-grade material from the former
Soviet Union has secretly provided a great advantage to the potential proliferants.

Options:

(A) is correct, but (R) is not correct.
9134942325861,

Both (A) and (R) are not correct.
Q1394233862

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394333563,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
Q1594232564
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Question Number : 142 Question Id : 9139438539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The United Nations as an international body is accountable for the
maintenance of peace and international security.

Reason (R) : In the changing global scenario, some powerful nation-states misuse the
United Nations' legitimacy to intervene in the internal affairs of other States.

Options:

Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
Q91394232565

Both (A) and (R) are not correct, nor is (R) the logic of (A).
Q1594232566

(A) is correct, but (R) is not correct.
Q1294332567

(A) is not correct, but (R) is correct.
Q12942323565
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Correct Marks: 2 Wrong Marks: 0
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Question Number : 143 Question Id : 9139438540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : 1t is a perpetual trend of advancing science and technology to put more and
more prowess at the disposal of smaller units.

Reason (R) : Progress in display, sensing and transmission technologies are indeed startling.
Options:

Both (A) and (R) are correct, but (R) is the logic of (A).
Q1594232569

(A) is not correct, but (R) is correct.
Q1294332570

Both (A) and (R) are not correct.
9123494232571

(A) is correct, but (R) is not correct.
A]1394233572,

Question Number : 143 Question 1d : 9139438540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= 3t o feg o B, Fd & o i (A) R afftgen % (R) @ | el it afen il A= feg g
e 1 T4 F T I g |

e (A) : Tagm wa dteifird &1 fasm v gaq wafs 2, fed sifus @y sl & fog
Fftrerrfire Fta it saaee 6t 51 T |

% (R) : we3ift, waeta ait gemon dreifirferat & wifa arega & e areh & & |



Options:
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Question Number : 144 Question Id : 9139438541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Aszertion (A) : In a conventional war, it is asserted that morale is as ‘three to one’.
Reason (R) : Team spirit is a real booster to turn the fate of fighting towards favourable
circumstances.

Options:

Both (A) and (R) are correct.
Q1294223573

(A) is correct, but (R) is not correct.
913942323574

(A) is not correct, but (R) is correct.
Q1=294333575,

Both (A) and (R) are not correct.
Q1294223578

Question Number : 144 Question Id : 9139438541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

A) F (R I
91394333573, ) 3R (R) 3 7 8

(A) TH B, (R) Terd & |
Q1394255074 m



(A) TeTd &, 9 (R) T8 2 |
91394333575,
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Question Number : 145 Question 1d : 9139438542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The victor will be one who finds the determination to attack.

Reason (R) : The side which will only defend itself is doomed to be defeated.

Options:

Both (A) and (R) are correct.
A1 394232577,

Both (A) and (R) are not correct.
Q1394333578

(A) is correct, but (F) iz not correct.
Q1294232579

(A) is not correct, but (R) is correct.
Q913942322580

Question Number : 145 Question Id : 9139438542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Id : 9139438543 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension

Read the passage given below and answer following questions that are based on
your understanding of the passage.

The draft report says the Pentagon will, by year’s end, establish an eleventh unified
combatant command : US Space Command. The four-star Space Command will oversee
space forces from across the military. The proposal goes even further than lawmakers
demanded in the 2019 National Defence Authorization Act, which orders the Pentagon to
create a space command under U.S. Strategic Command.

“The Department will recommend that the President revise the Unified Campaign Plan to
create the new U.S. Space Command by the end of 2018 and evaluate the need for any
additional personnel, responsibilities and authorities,” the draft report says. Initially, the
Pentagon will recommend that the head of Air Force Space Command also serve as the
commander of U.S. Space Command. Space liaisons will be installed in the geographic
combatant commands, starting with U.S. European Command.

The draft report says the Pentagon will also stand up a Space Operations Force, made up of
uniformed and civilian space personnel from the four military services and the National
Guard and Reserve.

“Similar to Special Forces personnel provided by all military services, the Space Operations
Force will be composed of the space personnel from all Military Services, but developed and
managed as one community,” it says. This force would come together quickly : the goal is to
deploy ‘teams of space experts’ to U.S. European Command and U.S. Indo-Pacific Command
by next summer.

The centerpiece of this effort is a new joint office, dubbed the Space Development Agency, to
oversee new satellite-development and space-launch contracts.

The biggest impact will be on the Air Force. The move clouds the future of the service's
Space and Missile Systems Center, the 6000-person organization in Los Angeles that
currently oversees about 85 percent of Dol’s space procurement budget.

Like the Missile Defence Agency, the Space Development Agency would oversee acquisition
projects across the various military services. Its size will be determined by a “DoD
governance committee in partnership with the intelligence community.” But in recent
months, the President has mulled, and then stated his desire for, a Space Force. If it
becomes reality, it would be the first new branch of the military since the Air Force was
born out of the Army Air Corps in 1947.

Sub questions

Question Number : 146 Question Id : 9139438544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the name of the 111:1r1 Unified Combatant Command of the U.S. ?
Options:

U.S. Strategic Command
91394333581,

Space Operations Force
Q13942335582 pa pe



U.S. Space Command
913943335835,

Army Air Cor
Q13942335584 v ps

Question Number : 147 Question 1d : 9139438545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What role will be given to the Space Command of the U.S. ?

Options:

Revise the Unified Campaign Plan
91394333585,

Oversee space forces from across the military
91394333586,

Restructure Space Operations Force
91394533587,

Evaluate the need for any additional personnel
91394333588,

Question Number : 148 Question Id : 9139438546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Wheo will initially be the Commander of the U.S. Space Command ?

Options:

Head of Air Force Space Command
91594333559,

Head of Army Air Corps
91394233590,

The Pentagon
291394233591,

U.S. European Command
21394253592,

Question Number : 149 Question Id : 9139438547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the composition of the Space Operations Force ?
Options:

Team of space experts
Q1394333593 P pe



Teams of special forces

91334533594,

Space personnel from all military services
91334533595, pace pe w

The 6000-person organization in Los Angeles
91334533596,

Question Number : 150 Question Id : 9139438548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which agency will oversee acquisition projects of the various military services ?

Options:
Space Development Agen
91394333597, P gency
Space and Missile Systems Center
91394333598,
913943335099, U-S- Indo-Pacific Command
U.S. European Command
91394333600,

Question Id : 9139438543 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension
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Sub questions

Question Number : 146 Question Id : 9139438544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

9153394233581,

91334533582, w b

91334533583, a
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Question Number : 147 Question Id : 9139438545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FufR % Fafte A F HE-H i d@id s
Options:
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91394333585,
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Question Number : 148 Question 1d : 9139438546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
are # amfeh afie 9 % FAE % 'Y | S W w0 2
Options:

AT HAdfes F9H H
91394333589, hE e

Tt TR HR e
91394333590

91334533591,

FHfeh ginfrr e
91394333592,

Question Number : 149 Question Id : 9139438547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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91394333593, ; «
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91394333594,
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Question Number : 150 Question Id : 9139438548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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